236

236

%0LF ASE= I

%0LF ALL=n0(
%S F ASE=4n
AoSsL=""n'OW1=" Mr="d ‘M S6=") wnuwixew 0ST | 0ST
oL | s9 STy € 8L | 5% §TT+ 0L !  95%TS  [S'LLb— | o08L | 08L | LV .
oL | T 8L | € Ll | 88 pL=2'9 | g9t L— 1oty oty | L[| SO | SE| €l A4 970 se
0L | 8¢ €L ¢ gL | €8 ssss | veste | 9—|soL [S0L | LV
AOSL=""n 'OW 1 =" ‘M61L=%4 M 1= ‘VWw s/=") wnuwixeuw 0ST | 0ST
oL | 9 8% | s€ | oot Y4 8 6 5§ £b— 00T | 00T | LV ,
oL | 79 8% | £ | Obl w 6 ol 19 ob— |08k |08k | Jvf | SHO | <SE| LI oL e se
oL | 8¢ SE'l € | ovl ST | S §‘s | sTe €6 —100L |00L | LV
OW 50 = Py (A omné:\wi m.muusa -9 7 §€ Wnwixew | 7} | 00T
M | = Py (A 081=""n *MSP="d) § O S€ wnuixew | 71} | g} 510 S€E | 6 w | 9976
(A 051 =N *MSY = "d) § 9 Sg wnwixew | 71} | £} S0 s 4’ ) S D st
(9=m) | [0 6 - 8y 07— {1 34| ooz | sl | g0 S€ L uy S g s¢
oL | 9§ € | s% | s81 or | 6'S 13T bh+ 1b 8 — |0 |00z | LV]]| sio se| ot 3ul SV SE
oL | €5 SV | ST | ol 91, | 8¢ L€ W0k (SZ— |0 |0 | LV
(ASLL=""n 'O s0="Y M §I=" ‘M 2=%) wnuwixeuw 0Ll | OLL
w=n |91 |so | - 7 |s'2 — |13uloll | 2wt | €0 | G| 6 [dDDD | D I 0€
st | ¥ s0 | 81 | 0L | oL Is'L — otk [ob | 1V
(AosL="n 'OW L =" ‘M £0="4 M p=") wnuwixew 05T | 0ST “ vo | sel g no 210
ob | Te | 91| ot] oz | 09 | 85 | 3 I 4 | s — ooz |00z | LV
/. ‘ __ 13, ‘ ¢, .. 28 P ¢, _ D ‘ —_
A>om_|hi: .ci L= “x M SL=%g ‘M MN ="d ‘yw 0oL =) E:Exﬁ& 0SL | 05l V <10 o€ / 14d v6 TH
oL | e | 61 |vT | e | owre | e |29 —jo0L [00L | LV
(A SZL="0 COW 1="Y CMS L =30 ‘M 6= M<E oL uvvs _M; w _st STL | 0ST
€9 L) S€L| £ | s9g XU+ 1) TX(STW+9¢ STl |osz | av .
9s | 19 b | o€ | 06l ix(su+s0|  xw 0oL |ooL | avi| O | SE| ¥ i L€ dd
oL | 9 v olsy | o6l 6l 8 s's sy s — |ooL ooz | pv]| YO | SE] T 91D
oL | 9 (4 T | okl L | s 6 0§ €8 — |00k |00L | LV
o | Gse| 9 ny 9¢ dd
To | (S¢ S ni $€ dd
(A ST="n *OW 1=""4 ‘M 71="4 ‘M6="d ‘YW 0/=")) wnwixew 0ST | 0ST 70 | GSE| ¥ ng € dd
Ly STV | 8 | s%v | sg1 X (9 =5'¢)] Tx(Oob+€8) 00T | 00T av 0 X3 £ InW £€ 1D
0l § Vol SY | oLl s¢ 8 9 S $8 — |00 | 00T | LV 70 8| t 14y )
lzo €€ | ¢ ans ¥ 1D
(M 8 ="d) [4 S 0oV 0T £ 9 o | 0T— | 00L |00 | LV | 810 0 I JIL Z19
|
% A M| O U o1 | Alyw vw yuw A A LA v A
e - i R e T [ M ‘D - v dl
URN et T A O VI I I s “ I n | ¥n | °n ol |

513

33



236

236

usd et
19-9 1 §¢
13 €€
Wl I 0€
SV o0t
L neEl
n s€ dn
9 dn

S dn

19 41N

S€ dd
910
¥ 10
¥ 10
S€ dd
SE dd
9€ dd
¥ 10
S€ dd
¥ 10
¥ 10

Il

Jeqg
nL
ni
np

zely

I

INW

INKW
ML
LE|

o3v

€iv 11
9 101
¥ 101
S ¥€ dd
0Z5€ usd
D 9¢& usd
vV 9€ udd
Y £} usd
08S€ d
qgold
601 AV

oo (A} o0k 002 ool 0
I
Ari— —
FACL— — -
A8— _ | i
w1 A
— oo
13 P
]
S€dd
4 pl
e
R 9 oy
R 971) i
(AN i y
S
£€ 1D = s0D
9-9766 = Il
o _ bE dd = mo]
D 1L II0E =dDDD
¥ ¥6 1H = Jswe
¥1D = N
€ dd = INW
ﬁ:) e dd = IXQO
{ €€ 1D = MO
91D = 3es
QGry 161y

sjusjeAainby

ST'0 §‘p 9 7L | 910 s¢
(A 8 [ A ¥ 13
L 6 €L 19-9 1 ¢
L 8 S€l . D91 §¢€
90 6 . SOt
0 | §'9 (A A - LS
Sl 1L 6L | DL IIOE
¥0 £0 | 8¢ 4 v6 IH
0 9 1D
4 ﬂ ¥ 1D
4d 4d 4d 4d ]
itau o:wu[ R t,“mwul 1

514



236

236

00z (M) osl o0 05 0 00N oo 002 0gt 0 0 & MIyL 9 & & § 0
iy — — - ‘ W
A0~ — s N—_ypE \mwt/ ===t s Y o & : i
FAB— S = <[ T~ — ml iy
B 7 I = ==y A
FE == e 1 A0 > o5 0z{ 05 I - =Y ;
\ANI - I S, Qh e =t — —t Q \ L™ |Nm. )
9= T~ ~< 1 W N , Abpe="n=1
EL il BESEN BRIRE S _— == g 1% s s —
AS- ~ | et N - >\®|\ /\A‘VA‘/ N—\Ev \v@& " u~ mv«.. £
7 e [ — N Ao %) o _ ¥ @
IIIIIIIII b - - N ’
25 = 7 ol A 00i=%n —= (vw)
-t 7 e I A
2 /\ wl_u Z-._ <Y 0
S P DR S ) /| (vl 051 MY £ 4 / 0
A= =\, -2 ws
- — = AD0I=°"N it
ol T T o i 7
0= Y p6IH = \\“\
|1
y_(M%_¢ 4 / 0 4 P R §
.*r \\ \ L \ o
L\!HEE.:.:./ + \.\ y £ 7 \\ A L
T\ sa B 4 1\?9 BoL="y | ¥
o = % , VA 200=0="0 |
- "
7
LE15E () \ 1| vwey =" aw% . 4
_ _ (1) §u- o GJSE 6 ¥y 19 n
0 5- o= s 2 2y p B0gL="y
== 686e 87" QN 4 sp=tp=m (W)
= / y6TH 05 ——"%n
A4 0 - 0-  g- (¥
[174 \ /d\ - |||\ -
T A
\‘ e §] —> \wa \
ov /|
\ ss su M o 77 g 52 0 6 \\
> 0§ 0 _o-(4h
09 ] L 2=% 05
\ y 7 §2 =11 \ .\
= | \
08 . s M\ -~ 5 Y, o |-
\uN \ Nwh@m;ﬂx& ﬂoov 05 \
1 nsa=tm'y \\ /
A 052="1
o o gy" 10 ‘ A00i=%n="11 o
%/ Vi e »
(vw) \ m % S g913- (1) 00 [—ffA00i="N1:4002="0 I \
fri . iVA il (vull 1 T=== (rw)\ /-
g A00=*n=" o - g 2y [ —— “ A002=""1="
Nammlia" T K/ N b1

33*

515



236

236

0 b-W'u-

<

A\

0 \00

NN

h||| Q.Nmi

10040

[}

9

004
S
/7 |
051 \ \a JILoE 3
$ 19-975¢ 9-976¢
/
o0z \ N~
(vw) re— G —=
of
9
.*ITS.J
> :LE:_ oA oo oo
o T == —
ASi— ,
= A=) T = =<1\ A
o AlL—~ \4.\
= | GYGE A8- i
ASL- — \ __\
l.tl\.lw \\.—\’L
L. A AG —— .
o— g7 — P4
|~ — — ~
L BN||
9-916¢

- 0

. ¢

oor_ (A) % 00 002 00 0
ez 1
- A A /1
S
% A /]
— & y 7/ 00!
A AViVi
Y _/ \
¥ v V4
§ L
— 73 we
N A (rw)
L ~w#< \4 uN
19-915¢ Al |1
1% ¥ 0
T T
A5 ==
ASL-=n
Al Ao ="n="n \
9-975¢ \ 6
%v
// / N
y
al \
—— u\ .3
(%)t d ?
y 9
o m) % s i [ 0
\
=1 T \\ o
o pr P 02
o \\ A'g—=1p
p 1 A 00 ="5="0 | ot
= P61H .
/4
(%) (rw)
NQN

516



236

236

005 (N)°n 052 002 05t 004 05 0
ASE- T2 - =1 1 T
WVA A5~ e
Judﬂ =AGH- M\\\ \\ 0s Il &
“‘1‘|-w4nu@\‘\\\\, s| 2
A= o= QVAK o
* . N
- gitse X N
rd
— 051
0___ & 0= G W gz- 0 P £ z ! \
B\Cd 7 7
N\n YA f ! \\ \
g / 1 4 4 e
0s \\ \o\\ﬂ € \ \ \ £
»W\\ V.O " \\ ,
@% Y/ /¢ g P e
T \a / ! =] 3 Afl-=16n g
\40 d NQ\ ——— .o\ m.. 19
oo \ ; O 4002=2%0="n
o A)
LT 197105€ &) 1E1SE |4
J
002__(A) Pn 0% 00 0§ 0 w°n oor o 00z _ou ool 05 0
= HE — T ADE- =
M = T - \““
s A9 o T~ \\ — \FNH%I I||1I.|II " \\\\\ 1.9
] 5 0 ABl- \\\\ \
- ‘IX Ab- m..”@\ }er‘llll.l \\ \\ ‘
/ \\\\ L.Mll-rll.l 7 X\\\\ \. 8\
- ..\jl. e \ ) 1\.'\\\\

Aoy == s L 18- /
T90sE | A | L NAS
S [ U 4852= 24 LU

At~ &
LETSE | A Au\é

052 _{4) % 00z 054 oo 05
AGi— +
A0i- -
i Al IS \.Q
e
\\\\\ - T @:@VA\
= = /
A02=" M\W,h \
N
9705¢ _ AL
0S2 (1) 002 06! 00! 05
\\
Al \\ \
3 /
4
A/
L
|
B
Aoi =1 \\\ﬂm\“_g \40
LETSE /
0 I (M)% §LD (4] 520
%
b _ —
ot
v
8 \\ \m\
\ 2\°0
rss—=1
~ 4001 ="4n="p
" e
&Mv A _.Mn_mm

05

00!
(yw)

§
05

oot

(vw)
0]

)
e;:

317



